

L-Vague Rings , L-Vague Ideals And L-Vague Cossets

¹Dr. B. Nageswara Rao, ²Dr.K.Ramesh

¹Department of Science and Humanities, Lendi Institute of Engineering Technology(A) Jonnada (village), Denkada(Mandal) Vizianagaram (Dist) Pin : 535005, Andhra Pradesh, India.

²Department of Science and Humanities, Lendi Institute of Engineering Technology (A) Jonnada (village), Denkada(Mandal) Vizianagaram (Dist) Pin : 535005, Andhra Pradesh, India.

Abstract: In this paper we study some generalized properties of L-vague ring. In this direction the concept of image and inverse image of vague L-set under ring homomorphism are discussed. Vague ideal on vague L-ring and studied their properties. Further we investigate the development of some important results and theorems about L-vague ring, L-vague ideal, L-vague cosets on a vague L-ring.

Keywords: Vague set, L-Vague ring , L-Vague ideal , L-vague cosset

Mathematics Subject Classification (2000): 08A72

I. INTRODUCTION

The concept of fuzzy lattice was introduced by Ajmal. N & Thomas[1]. "Is there a common abstraction which includes Boolean algebra, Boolean rings and lattice ordered group or L-group is an algebraic structure connecting lattice and group. To answer this problem many common abstractions, namely dually residuated lattice ordered semigroups, commutative lattice ordered groups. Also the concept proposed by Zadeh.L.A.[12] defining a fuzzy subset A of a given universe X characterizing the membership of an element x of X belonging to A by means of a membership function $\mu_A(x)$ defined from X into $[0, 1]$ has revolutionized the theory of Mathematical modeling. Decision making etc., in handling the imprecise real life situations mathematically. Now several branches of fuzzy mathematics like fuzzy algebra, fuzzy topology, fuzzy control theory, fuzzy measure theory etc., have emerged. But in the decision making, the fuzzy theory takes care of membership of an element x only, that is the evidence against x belonging to A. It is felt by several decision makers and researchers that in proper decision making, the evidence belongs to A and evidence not belongs to A are both necessary. and how much X belongs to A or how much x does not belongs to A are necessary. Several generalizations of Zadeh's fuzzy set theory have been proposed, such as L-fuzzy sets [5]. Interval valued fuzzy sets, Intuitionistic fuzzy sets by Atanassov.K.T [1], Vague sets [7] are mathematically equivalent. Any such set A of a given Universe X can be characterized by means of a pair of function (t_A, f_A) where $t_A : X \rightarrow [0, 1]$

and $f_A : X \rightarrow [0, 1]$ such that $0 \leq t_A(x) + f_A(x) \leq 1$ for all x in X. The set $t_A(x)$ is called the truth function and the set $f_A(x)$ is called false function or non membership function and $t_A(x)$ gives the evidence of how much x belongs to A $f_A(x)$ gives the evidence of how much x does not A. These concepts are being applied in several areas like decision-making, fuzzy control, knowledge discovery and fault diagnosis etc. It is believed the vague sets (or equivalently intuitionistic fuzzy sets) will more useful in decision making, and other areas of Mathematical modeling. Through Atanassov's intuitionistic fuzzy sets, Gau and Buehrer and some other areas of Mathematical modeling. Since then the theory fuzzy sets developed extensively and embraced almost all subjects like engineering science and technology. But the membership function $\mu_A(x)$ gives only a approximation belong to A. To avoid this and obtain a better estimation and analysis of data decision making. Gau.W.L and Bueher D.J. [7] have initiated the study of vague sets with the hope that they form a better tool to understand, interpret and solve real life problems which are in general vague, than the theory of vague sets do. Ranjit Biswas[9] initiated the study of vague groups by Ramakrishna.N, Eswarlal.T[9][10], [11] and Nageswara Rao.B, Bullibabu.R, Eswarlal.T[10] are extended the some of the concepts in study of vague algebra. The objective of this paper is to contribute further to the study of vague algebra by



introducing the concepts of the development of some important results and theorems about the notation vague L-Ring and L-vague Ideal of a L-Ring, L-vague sets and studied some of their properties.

II. PRELIMINARIES

In this section, some definitions and results of congruence relation and rough sets are discussed. A ring R is a non-empty set $(R, +, \cdot)$ consisting of a non-empty set R together with two binary operations '+' and ' \cdot ' (called addition and multiplication) such that $(R, +)$ is an abelian group, (R, \cdot) is a semi-group and $a \cdot (b+c) = (a \cdot b) + (a \cdot c)$, $(b+c) \cdot a = (b \cdot a) + (c \cdot a)$ for all a, b, c in R .

If the multiplication is commutative, then R is said to be commutative ring and R is said to be commutative ring and R said to have an identity say 1 if $a \cdot 1 = 1 \cdot a = a$ for all a in R .

Let r be the equivalence relation on a ring R . For $x \in R$, the equivalence class or coset of x modulo r is the set $[x]_r = \{y \in R : (x, y) \in r\}$. In this paper R is commutative ring with identity.

Definition 2.1[5] :-A vague set A in the universe of discourse U is a pair (t_A, f_A) where $t_A: X \rightarrow [0, 1]$, $f_A: X \rightarrow [0, 1]$ with $t_A(x) + f_A(x) \leq 1$ for all x in X . Here t_A is called the membership function and f_A is called non-membership and also called true membership function, false membership function respectively.

Definition 2.2 [5] The interval $[t_A(x), 1 - f_A(x)]$ is called the vague value of x in A , and it is denoted by $V_A(x)$.

i.e. $V_A(x) = [t_A(x), 1 - f_A(x)]$

Definition 2.3 Let (G, \cdot) be a group. A vague set A of G is called a vague group of G if for $a \in G$,

$$\forall x, y \text{ in } G. V_A(xy) \geq \min \{ V_A(x), V_A(y) \} \text{ and } V_A(x^{-1}) \geq V_A(x)$$

i.e. $t_A(xy) \geq \min \{ t_A(x), t_A(y) \}$ and $t_A(x^{-1}) \geq t_A(x)$,

$$f_A(xy) \leq \max \{ f_A(x), f_A(y) \} \text{ and } f_A(x^{-1}) \leq f_A(x).$$

Definition 2.4 Let A be a vague set of universe G with true-membership function t_A and false membership function f_A . For $\alpha, \beta \in [0, 1]$ with $\alpha \leq \beta$, the (α, β) cut or vague cut of vague set A is the crisp subset G of X given by $A_{(\alpha, \beta)} = \{x/x \in G, V_A(x) \geq [\alpha, \beta]\}$

i.e. $A_{(\alpha, \beta)} = \{x/x \in G, t_A(x) \geq \alpha, 1 - f_A(x) \geq \beta\}$.

The α -cut, A_α of vague set A is the (α, α) -cut of A , and hence given by $A_\alpha = \{x/x \in G, t_A(x) \geq \alpha\}$.

Definition 2.5 [5] Let A be a vague set of a group G . Then the true α -cut of A is the crisp subset

$T_{A\alpha} = \{x/x \in G, t_A(x) \geq \alpha\}$ of G , where $\alpha \in [0, 1]$.

Definition 2.6 [1] Let A be a vague set of a group G . Then the false α -cut of A is the crisp subset $F_{A\alpha} = \{x/x \in G, f_A(x) \leq \alpha\}$ of G , where $\alpha \in [0, 1]$.

III. L-Vague Ring and L-Vague Ideals

In this section we define vague L-ring, vague ideal on L-ring and also studied certain properties.

Definition 3.1: An L-Vague set $A = \{(x, t_A^{(x)}, f_A^{(x)}) : x \in R\}$ of R is said to be an L-vague ring (LVR) if $\forall x, y \in R$, satisfies the following conditions.

- (i) $t_A^{(x-y)} \geq \min \{ t_A^{(x)}, t_A^{(y)} \}$
- (ii) $t_A^{(xy)} \geq \min \{ t_A^{(x)}, t_A^{(y)} \}$
- (iii) $f_A^{(x-y)} \leq \max \{ f_A^{(x)}, f_A^{(y)} \}$
- (iv) $f_A^{(xy)} \leq \max \{ f_A^{(x)}, f_A^{(y)} \}$

Definition 3.2: Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ be an L- vague ring of R. Then A is called an L-vague ideal of R if it satisfies the following conditions

- (i) $t_A^{(x-y)} \geq \min \{ t_A^{(x)}, t_A^{(y)} \}$
- (ii) $t_A^{(xy)} \geq t_A^{(x)}$
- (iii) $f_A^{(x-y)} \leq \max \{ f_A^{(x)}, f_A^{(y)} \}$
- (iv) $f_A^{(xy)} \leq f_A^{(x)}, \forall x, y \in R$

Definition 3.3: Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ be an L-vague ideal of R, then we define

- (i) $(t_A^{(x)})_* = \{ x \in R : t_A^{(x)} = t_A^{(0)} \}$ and
- (ii) $(f_A^{(x)})_* = \{ x \in R : f_A^{(x)} > f_A^{(0)} \}$
- (v) Definition: Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ be an L- vague ring of R. Let $x \in R$ then

$C = \{ x, (t_{A\{x\}}^{(0)} + t_A)(x), (f_{A\{x\}}^{(0)} + f_A)(x) : x \in R \}$ is called an L-vague cosset of A and is defined as

$C = \{ (x, (t_{A\{x\}}^{(0)} + t_A)(x), (f_{A\{x\}}^{(0)} + f_A)(x) : x \in R \}$ is called an L-vague cosset of A and is denotes as

$C = \{ x, (x + t_A)(x), (x + f_A)(x) : x \in R \}$

Theorem 3.4: Let $R/A = \{ x, (x + t_A), (x + f_A), : x \in R \}$ be an L-vague ideal and let

$R/A = \{ x, (x + t_A), (x + f_A), : x \in R \}$. Define + and . on R/A by

- (i) $(x + t_A^{(x)}) + (y + t_A^{(y)}) = x + y + t_A^{(x)}$
- (ii) $(x + y + t_A^{(x)}) + (y + f_A^{(x)}) = x + y + f_A^{(x)}, \forall x, y \in R$ and
- (iii) $(x + t_A^{(x)}) \cdot (y + t_A^{(x)}) = x \cdot y + t_A^{(x)}$
- (iv) $(x + t_A^{(x)}) \cdot (y + f_A^{(x)}) = x \cdot y + f_A^{(x)}, \forall x, y \in R$

Then R/A is a ring w.r.t + and is called Quotient ring of R by $t_A^{(x)}, f_A^{(x)}$

Proof: Let $\varphi : R \rightarrow S$ be a ring homomorphism.

Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ and

$B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in R \}$ be any two vague rings of R then

$C = \{ (y, \varphi(t_A^{(y)}), \varphi(f_A^{(y)})) : y \in S \}$ is called vague image of A.

Where $\varphi(t_A^{(x)})(y) = \{ \max \{ t_A^{(x)} : x \in R, \varphi(x) = y \text{ if } \varphi^{-1}(y) \neq 0 \}$

$= 0$, otherwise

$\varphi(f_A^{(x)})(y) = \min \{ f_A^{(x)} : x \in R, \varphi(x) = y \text{ if } \varphi^{-1}(y) \neq 0 \}$

$= 0$, otherwise

$\forall y \in S$

and $D = \{ (x, \varphi^{-1}(t_B^{(x)}), \varphi^{-1}(f_B^{(x)})) : x \in R \}$ is called vague invertible image of B.

where $\varphi^{-1}(t_B^{(x)}) = t_B^{(x)}$

$\varphi^{-1}(f_B^{(x)}) = f_B^{(x)} \forall x \in R$

where $\varphi(t_A)$ and $\varphi(f_A)$ are called the image of t_A and f_A under φ

Also $\varphi^{-1}(t_B)$ and $\varphi^{-1}(f_B)$ are called the invertible image of t_B and f_B under φ

Theorem 3.5: Let $\varphi : R \rightarrow S$ be a ring homomorphism.

Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ and $B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in R \}$ be any two vague ideals of R and S respectively, then

- (i) $\varphi(f_A^{(x)}) = f_A^{(0)}$ where 0^1 is the zero element of S and 0 is the zero element of R
- (i) $\Phi(f_A)(x) \leq (\varphi(f_A))(x)$
- (ii) If f_A has the infium property then $\Phi(f_A)(x) = (\varphi(f_A))(x)$
- (ii) If f_A is constant on $\ker f$, then $(\varphi(f_A))(\varphi(x)) = f_A(x) \forall x \in R$

Proof: The proof is very clear

Theorem 3.6 Let $\varphi : R \rightarrow S$ be a ring homomorphism.

Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ and $B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in R \}$ be L- vague ideal of R and S , then

- (i) $D = \{ (x, \varphi^{-1}(t_B^{(x)}), \varphi^{-1}(f_B^{(x)})) : x \in R \}$ is on L- vague ideal of R which is a constant on $\ker \varphi$
- (ii) $\Phi^{-1}(f_B^{(x)})^* = (\varphi^{-1}(f_B^{(x)}))^*$
- (iii) If φ is onto then $(\varphi \circ \varphi^{-1})(f_B) = f_B$
- (iv) If f_A is constant on $\ker f$, then $(\varphi^{-1} \circ \varphi)(f_A) = f_A$

Proof: (i) Let $x, y \in R$, then

$$\begin{aligned} \Phi^{-1}(f_B)^{(x-y)} &= f_B^{(x-y)} = f_B^{(\varphi(x) - \varphi(y))} \leq \max \{ f_B^{(\varphi(x))}, f_B^{(\varphi(y))} \} \\ &= \max \{ \varphi^{-1}(f_B)^{(x)}, \varphi^{-1}(f_B)^{(y)} \} \end{aligned}$$

$$\begin{aligned} \text{and } \Phi^{-1}(f_B^{(xy)}) &= f_B^{(x-y)} = f_B^{(\varphi(xy))} \leq \min \{ f_B^{(\varphi(x))}, f_B^{(\varphi(y))} \} \\ &= \min \{ \varphi^{-1}(f_B)^{(x)}, \varphi^{-1}(f_B)^{(y)} \} \end{aligned}$$

Hence 'D' is a L- vague ideal of R .

Let $x \in \ker \varphi$, then $\varphi^{-1}(f_B)(x) = f_B^{\varphi(x)}$

$$\begin{aligned} &= f_B^{\varphi(0)} \\ &= f_B^{(0^1)} \end{aligned}$$

Hence $\varphi^{-1}(f_B)$ is constant on $\ker \varphi$.

(ii) Let $x \in R$, then $x \in \varphi^{-1}(f_B)^* \Leftrightarrow f_B^{(\varphi(x))} > f_B^{(0^1)} = f_B^{(f(0))}$

$$\begin{aligned} &\Leftrightarrow \varphi^{-1}(f_B)^{(x)} > \varphi^{-1}(f_B)^{(0)} \\ &\Leftrightarrow x \in (\varphi^{-1}(f_B))^* \end{aligned}$$

Hence $\varphi^{-1}(f_B)^* = (\varphi^{-1}(f_B))^*$

(iii) Let $y \in S$, then $y = \varphi(x)$ for some $x \in R$, so that

$$(\varphi \circ \varphi^{-1})(f_B)^{(x)} = \varphi(\varphi^{-1}(f_B)^{(y)}) = \varphi(\varphi^{-1}(f_B)^{(\varphi(x))}) = \varphi^{-1}(f_B)^{(x)} = f_B^{(\varphi(x))} = f_B^{(y)}$$

Hence $(\varphi \circ \varphi^{-1})(f_B) = f_B$

(iv) Let $x \in R$, then $(\varphi^{-1} \circ \varphi)(f_A)^{(x)} = \varphi^{-1}(\varphi(f_A)(x)) = \varphi(f_A)^{(\varphi(x))} = f_A^{(x)}$

Hence $(\varphi^{-1} \circ \varphi)(f_A) = f_A$

Theorem 3.7 : Let $\varphi : R \rightarrow S$ be on to ring homomorphism. Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ be an vague ideal of R , then $c = \{ (y, \varphi(t_A^{(y)}), \varphi(f_A^{(y)})) : y \in S \}$ is an vague ideal of S . If f_A is a constant on $\text{Ker } \varphi$, then $\varphi(f_A^{(y)})^* = (\varphi(f_A^{(y)}))^*$

Proof: Let $s_1, s_2 \in S$ then $s_1 = \varphi(r_1), s_2 = \varphi(r_2)$ for same $r_1, r_2 \in R$.

Now $\varphi(f_A^{(s_1 - s_2)}) = \min \{ f_A^{(x)} : x \in R, \varphi(x) = s_1 - s_2 \}$

$$\begin{aligned} &\leq \min\{ f_A^{(r_1-r_2)} : r_1, r_2 \in \mathbf{R}, \varphi(r_1) = s_1, \varphi(r_2) = s_2 \} \\ &\leq \min\{ \max\{ f_A^{(r_1)}, f_A^{(r_2)} : r_1, r_2 \in \mathbf{R}, f_A(r_1) = s_1, f_A(r_2) = s_2 \} \} \\ &= \max[\min\{ f_A^{(r_1)} : r_1 \in \mathbf{R}, f_A^{(r_1)} = s_1 \}, \min\{ f_A^{(r_2)} : r_2 \in \mathbf{R}, f_A^{(r_2)} = s_2 \}] \\ &= \max\{ \varphi(f_A^{(s_1)}), \varphi(f_A^{(s_2)}) \} \\ \therefore \varphi(f_A^{(s_1-s_2)}) &= \max\{ \varphi(f_A^{(s_1)}), \varphi(f_A^{(s_2)}) \} \end{aligned}$$

Also $\varphi(f_A^{(s_1s_2)}) = \min\{ f_A^{(x)} : x \in \mathbf{R}, f_A(x) = s_1s_2 \}$

$$\begin{aligned} &\leq \min\{ f_A^{(r_1r_2)} : r_1, r_2 \in \mathbf{R}, f_A(r_1) = s_1, f_A(r_2) = s_2 \} \\ &\leq \min\{ \min\{ f_A^{(r_1)}, f_A^{(r_2)} : r_1, r_2 \in \mathbf{R}, f(r_1) = s_1, f(r_2) = s_2 \} \} \\ &= \min[\min\{ f_A^{(r_1)} : r_1 \in \mathbf{R}, f_A^{(r_1)} = s_1 \}, \min\{ f_A^{(r_2)} : r_2 \in \mathbf{R}, f_A^{(r_2)} = s_2 \}] \\ &= \min\{ \varphi(f_A^{(s_1)}), \varphi(f_A^{(s_2)}) \} \\ \therefore \varphi(f_A^{(s_1s_2)}) &= \min\{ \varphi(f_A^{(s_1)}), \varphi(f_A^{(s_2)}) \} \end{aligned}$$

Hence $c = \{ (y, \varphi(f_A^{(y)}), \varphi(f_A^{(y)})) : y \in S \}$ is an vague ideal of S

Next f_A is a constant on $\ker \varphi$, and for $y \in \varphi(f_A^{(y)})$

We have $\varphi(f_A^{(y)}) > \varphi(f_A^{(0)}) = f_A^{(0)}$

Since φ is onto, $y = \varphi(x)$ for some $x \in \mathbf{R}$

Hence $\varphi(f_A^{(x)}) = f_A^{(x)} > f_A^{(0)}$

Thus $f_A^{(x)} > f_A^{(0)}$ for $x \in f_A$

Theorem 3.8:- Let $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in \mathbf{R} \}$ be an vague ideal then A^* is an vague ideal of \mathbf{R}/A .

Where $A^* = \{ (x, t_A^{*(x)}, f_A^{*(x)}) : x \in \mathbf{R}/A \}$ is defined by $t_A^{*(x+t_A)} = t_A^{*(x)}$ and $f_A^{*(x+f_A)} = f_A^{*(x)} \forall x \in \mathbf{R}$.

Proof: Let $x, y \in \mathbf{R}$ then

$$\begin{aligned} \text{(i)} \quad t_A^* ((x+t_A) + (y+t_A)) &= t_A^* (x+y+t_A) = t_A^{(x+y)} \geq \max\{ t_A^{(x)}, t_A^{(y)} \} \\ &= \max\{ t_A^* (x+t_A), t_A^* (y+t_A) \} \\ \therefore t_A^* ((x+t_A) + (y+t_A)) &\geq \max\{ t_A^* (x+t_A), t_A^* (y+t_A) \} \\ \text{(ii)} \quad f_A^* ((x+f_A) (y+f_A)) &= f_A^* (xy+f_A) = f_A^{(xy)} \leq \min\{ f_A^{(x)}, f_A^{(y)} \} \\ &= \min\{ f_A^* (x+f_A), f_A^* (y+f_A) \} \\ \therefore f_A^* ((x+f_A)(y+f_A)) &\leq \min\{ f_A^* (x+f_A), f_A^* (y+f_A) \} \end{aligned}$$

Hence A^* is an vague ideal of \mathbf{R}/A

Theorem 3.9:- Let $B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in \mathbf{R} \}$ be an L-vague ring and c is any ideal of \mathbf{R} . Let $D = \{ [x], t_D^{[x]}, f_D^{[x]} : [x] \in \mathbf{R}/C \}$ be an L-vague ring of \mathbf{R}/C where

$$t_D^{[x]} = \max\{ t_B^{[z]} : z \in [z] \}$$

$$f_D^{[x]} = \min\{ f_B^{[z]} : z \in [z] \}$$

for all $x \in \mathbf{R}$ and $[x] = x + c$, then D is L- vague ring of \mathbf{R}/C

Proof:- Let $x, y \in \mathbf{R}$, then

$$f_D^{([x]-[y])} = f_D^{(IX-YI)} = \min\{ f_B^{(x-y+z)} : z \in c \} \leq \min\{ f_B^{(x-y+a-b)} : a, b \in c \}$$

$$\begin{aligned}
 &= \min \{ f_B^{((x+a)-(y+b))} : a,b \in c. \\
 &\leq \max \{ (\min \{ f_B^{(x+a)} : a \in c \}) \vee (\min \{ f_B^{(y+b)} : b \in c \}) = \max \{ f_D^{[x]}, f_D^{[y]} \} \\
 &\quad \text{Also, } f_D^{([x][y])} = f_D^{[XY]} = \min \{ f_B^{(xy+z)} : z \in c \} \\
 &\leq \min \{ f_B^{(xy+(xv+uy+uv))} : u,v \in c \} = \min \{ f_B^{((y+v)(x+u))} : u,v \in c. \\
 &\leq \max \{ (\min \{ f_B^{(y+v)} \}, (\min \{ f_B^{(x+u)} \}) : u,v \in c \} \\
 &= \max (\min \{ f_B^{(x+u)} : u \in c \}, (\min \{ f_B^{(y+v)} : v \in c \}) = \min \{ f_D^{[x]}, f_D^{[y]} \} \\
 &= f_D^{([x][y])} = f_D^{[xy]}
 \end{aligned}$$

Hence D is an L-vague ring of D/C.

The L-vague subring, $D = \{ [x], t_D^{[x]}, f_D^{[x]} : [x] \in R/C \}$ is called the vague L- quotient ring of B relative to c and denoted as B/C and is noted as VLSR.

Theorem 3.10 : - Let $B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in R \}$ be an L-vague ring and $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in R \}$ be an L-vague ideal of B. Suppose that L is regular, then $B/B^* \cong B/A$.

Proof: Let ϕ be the natural homomorphism from B^* onto B^*/A^* , then

$$\begin{aligned}
 \phi(t_B/t_B^*)([y]) &= \min \{ (t_B/t_B^*)(x) : x \in B^*, f(x) = [y] \} \\
 &= \min \{ t_B^{(z)} : z \in [y] \} \\
 &= (t_B/t_A)[y] \forall y \in B^* \text{ where } [y] = y + A^* \dots\dots (3.10.1)
 \end{aligned}$$

$$\begin{aligned}
 \phi(f_B/f_B^*)([y]) &= \max \{ (f_B/f_B^*)(x) : x \in B^*, f(x) = [y] \} \\
 &= \max \{ f_B^{(z)} : z \in [y] \} \\
 &= (f_B/f_A)[y] \forall y \in B^* \text{ where } [y] = y + A^* \dots\dots (3.10.2)s
 \end{aligned}$$

From (3.9.1), (3.9.2) $B/B^* \cong B/A$.

Theorem 3.11 : Let $\phi : R \rightarrow S$ be an onto homomorphism. Let $B = \{ (x, t_B^{(x)}, f_B^{(x)}) : x \in S \}$ be an L-vague ring of S and $A = \{ (x, t_A^{(x)}, f_A^{(x)}) : x \in S \}$ be an vague ideal of B, then $\phi^{-1}(A)$ is an L-vague ideal of $\phi^{-1}(B)$

Proof: Clearly $\phi^{-1}(A)$ and $\phi^{-1}(B)$ are L-vague ideal of a ring R and $\phi^{-1}(A) \subseteq \phi^{-1}(B)$

$$\begin{aligned}
 \text{Now } \phi^{-1}(t_A^{(xy)}) &= t_A^{(\phi(xy))} = t_A^{(\phi(x)\phi(y))} \geq \min \{ t_A^{\phi(x)}, t_A^{\phi(y)} \} \\
 &= \min \{ t_B^{\phi(x)}, t_B^{\phi(y)} \} = \min \{ \phi^{-1}(t_B)^{(x)}, \phi^{-1}(t_B)^{(y)} \} \\
 \therefore \phi^{-1}(t_A^{(xy)}) &\geq \min \{ \phi^{-1}(t_B)^{(x)}, \phi^{-1}(t_B)^{(y)} \} \dots\dots\dots (3.11.1)
 \end{aligned}$$

$$\begin{aligned}
 \text{Now } \phi^{-1}(f_A^{(xy)}) &= f_A^{(\phi(xy))} = f_A^{(\phi(x)\phi(y))} \leq \max \{ f_A^{\phi(x)}, f_A^{\phi(y)} \} \\
 &= \max \{ f_B^{\phi(x)}, f_B^{\phi(y)} \} = \max \{ \phi^{-1}(f_B)^{(x)}, \phi^{-1}(f_B)^{(y)} \} \\
 \therefore \phi^{-1}(f_A^{(xy)}) &\leq \max \{ \phi^{-1}(f_B)^{(x)}, \phi^{-1}(f_B)^{(y)} \} \dots\dots\dots (3.11.2)
 \end{aligned}$$

From (3.10.1), (3.10.2), $\phi^{-1}(A)$ is an L-vague ideal of $\phi^{-1}(B)$.

Acknowledgement: The authors are grateful to **Prof.K.L.N.Swamy** for his valuable suggestions and discussions on this work.

References

- [1] Ajmal. N & Thomas. K.V., The Fuzzy Lattice ideals of a ring, Fuzzy sets and systems ,3 (1995) 371 – 379.
- [2] Atanassov. K.T., Intuitionistic fuzzy sets. Fuzzy sets and systems, 20(1) (1986) 87-96.
- [3] Chellappa. B and Anandh. B., Fuzzy join subsemilattices, 7(2) (2011) 111 – 119.
- [4] Chellappa. B and Anandh. B., Fuzzy join semi L – ideal, Indian Journal of Mathematics and Mathematical Sciences, 7 (2011) 103 – 109.
- [5] Fried, E., and Schmidt, E.T., Standard sublattices, Algebra Universalis 5 (1975) 203-211.
- [6] Gau,w.L.and Buehre,D.J.,vague sets, IEEE,Transection on systemsMan 33 (1933) 610-614.
- [7] Mullai. M., fuzzy L – filters , 1(3) (2012) 21 – 24.
- [8] Nageswara Rao.B,Bullibabu.R,Eswarlal.T., Vague join semilattices,(IJMTT), 66(2) (2020).
- [9] Nageswara Rao.B,Ramakrishana.N,Eswarlal.T, Vague join semilattices,(IJMTT), 66(2) (2020).
- [10] Nageswararao.B, Ramakrishana.N,Eswarlal.T., Vague cut-set on vague join sem lattice and vague join semi L-Filter,Solid state Technology, 63 (5) (2020) 14951-14957.
- [11] Ramakrishana.N, Satyanarayana.CH and Nageswararao.B., Some characterizations vague groupsvague normal groups (IJMSEA),6(3) (2012) 387-397.
- [12] Zadeh. L.A., Fuzzy Sets, Information & Control 8, (1965) 338 – 353.